
1) Find perimeter of 
rectangle having 
sides a = 735 in 
and b = 417 in

Answer: ____________

2) 827 - 661

Answer: ____________

3) 252 ÷ (-21)

Answer: ____________

4) Find the value of 'q' by completing the 
square of the following equation: 2 + 
10q + 16

Answer: ____________

5) Find the value of 'q' by completing the 
square of the following equation: 2 + 
10q + 16

Answer: ____________

6) An amount was decreased by 2.4% to 
$189.00. Find the original amount.

Answer: ____________

7) 263.78 ÷ 24.2

Answer: ____________

8) What would you multiply by to 
increase an amount by 85%?

Answer: ____________

9) Find the mode of the following set of data:

21, 21, 21, 21, 59, 59, 59, 59, 35, 
35, 35, 35, 35

Answer: ____________

10) Find the median of the following set of data:

20, 28, 40, 40, 6, 23, 24, 16, 5, 30, 
14, 2, 31, 12

Answer: ____________

11) (-666) ÷ 37

Answer: ____________

12) Find perimeter of 
rectangle having 
sides a = 996 ft 
and b = 650 ft

Answer: ____________

13) Find area of 
rectangle having 
sides a = 613 ft 
and b = 326 ft

Answer: ____________

14) Write 10 x 107 as a normal number.

Answer: ____________

15) Solve by factorising 
s2 - 6s - 16 = 0

Answer: ____________
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16) (-586) + (-581)

Answer: ____________

17) (-586) + (-581)

Answer: ____________

18) Find area of 
triangle s = 576 in

Answer: ____________

19) $27.00 earning 8.7% compound 
interest for 5 years.

Answer: ____________

20)
36

7 /14

Answer: ____________

21) Find area of 
triangle 
a = 181 ft, b = 679 ft

Answer: ____________

22)
144

1 /2

Answer: ____________

23)
144

1 /2

Answer: ____________

24) 544 + 665

Answer: ____________

25) What would you multiply by to 
decrease an amount by 45%?

Answer: ____________

26) 147 x 554

Answer: ____________

27) Find the mode of the following set of data:

86, 86, 86, 86, 44, 44, 44, 44, 44, 
74, 74, 74, 74, 66, 66, 66, 90, 90, 
90, 90, 90, 90, 90

Answer: ____________

28) Write 10 x 10-1 as a normal number.

Answer: ____________

29) Write 70 in standard form.

Answer: ____________

30) b

a o c
Measure angle boa 

Answer: ____________
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31)

'Name the type of angle.

Answer: ____________

32) b

a o c
Measure angle boa 

Answer: ____________

33) Convert the following fraction into a 
mixed number: 22/14

Answer: ____________

34) Find perimeter of 
square having each 
side (s) equals 188 in

Answer: ____________

35) Convert the following improper 
fraction 146/13 + 34/5 into a mixed 
number

Answer: ____________

36) Solve by factorising 
x2 - 18x + 17 = 0

Answer: ____________

37) 565 - 388

Answer: ____________

38) Convert the following fraction into a 
mixed number: 22/15

Answer: ____________

39) (1 x 108) - (4 x 8-9)

Answer: ____________

40) 9   16/20 - 18   3/4

Answer: ____________

41) Simplify 24:16

Answer: ____________

42) 325 ÷ (-25)

Answer: ____________

43) Increase 188 by 1/47

Answer: ____________

44) 18% of 68

Answer: ____________

45) Find the range of the following set of data:

0.2, -0.2, 0.5, 19, 0, -4, 1, -10, 0.5

Answer: ____________
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46) Convert the following fraction into a 
mixed number: 22/12

Answer: ____________

47) (10 x 27) / (10 x 4-6)

Answer: ____________

48) 249 + (-885)

Answer: ____________

49) 978 x 246

Answer: ____________

50)
64

8 /12

Answer: ____________

51) Increase 15.5 by 35%

Answer: ____________

52) 520 ÷ 20

Answer: ____________

53) Find area of 
triangle s = 552 m

Answer: ____________

54)

A B = 52
Find the Angle at side A.

Answer: ____________

55) Round 17.939774 to the nearest 
whole number.

Answer: ____________

56) (4 x 68) - (1 x 88)

Answer: ____________

57) (4 x 68) - (1 x 88)

Answer: ____________

58) 26.7 + 627

Answer: ____________

59) 425 ÷ 25

Answer: ____________

60) 50% of 15

Answer: ____________

Copyright 2022 - Geek School Tutoring Limited http://www.geekschool.co.uk

Name: _____________________________

June 26, 2022

Sr: 26062022-2721

 

http://www.geekschool.co.uk


61) Find perimeter of 
square having each 
side (s) equals 609 cm

Answer: ____________

62) An amount was increased by 1% to 
$475.00. Find the original amount.

Answer: ____________

63) (-475) ÷ 25

Answer: ____________

64) (6 x 87) x (9 x 6-1)

Answer: ____________

65) 516/18 ÷ 214/20

Answer: ____________

66) A number was shared in the ratio 
42:18. The smaller share was 18. 
What was the larger amount?

Answer: ____________

67) Find area of 
triangle s = 211 m

Answer: ____________

68) A number is chosen at random from 
1 to 50. Find the probability of 
selecting prime number.

Answer: ____________

69) 727 x 709

Answer: ____________

70) 785 - 693

Answer: ____________

71) 'What is the probability of rolling 
factors of 8.when rolling a dice

Answer: ____________

72) 'What is the probability of rolling 
factors of 8.when rolling a dice

Answer: ____________

73) A number is chosen at random from 
1 to 50. Find the probability of 
selecting prime number.

Answer: ____________

74) A number is chosen at random from 
1 to 50. Find the probability of 
selecting prime number.

Answer: ____________

75) A number was shared in the ratio 
36:38. The smaller share was 54. 
What was the larger amount?

Answer: ____________
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76) Share 38 in the ratio 17:21

Answer: ____________

77) Find perimeter of 
rectangle having 
sides a = 843 cm 
and b = 835 cm

Answer: ____________

78) A number was shared in the ratio 
11:20. The larger share was 40. 
What was the smaller amount?

Answer: ____________

79) Increase 234 by 1/117

Answer: ____________

80) Round 23.5633 to the nearest 10000

Answer: ____________

81) $110.00 earning 9% compound 
interest for 5 years.

Answer: ____________

82) Round 14.917931 to the nearest 1000

Answer: ____________

83) (-918) - (-807)

Answer: ____________

84)

'Name the type of angle.

Answer: ____________

85) 229 x 953

Answer: ____________

86) Find perimeter of 
triangle
a = 110 ft , b = 972 
ft

Answer: ____________

87) Find perimeter of 
triangle
a = 110 ft , b = 972 
ft

Answer: ____________

88) Find perimeter of 
triangle
a = 110 ft , b = 972 
ft

Answer: ____________

89)
29  Find Volume of Cone 

27

Answer: ____________

90) 150 ÷ 10

Answer: ____________
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91) Write 6 x 10-2 as a normal number.

Answer: ____________

92) 285 - (-544)

Answer: ____________

93) 1/123 of 246

Answer: ____________

94) (2 x 14) ÷ (2 x 11)

Answer: ____________

95) Find the median of the following set of data:

2, 39, 27, 7, 38, 20, 32, 4, 25, 24

Answer: ____________

96) (4 x 72) - (9 x 16)

Answer: ____________

97) 44 x 100

Answer: ____________

98) 259 + (-355)

Answer: ____________

99) Convert the following improper 
fraction 1012/19 + 1613/14 into a 
mixed number

Answer: ____________

100) Simplify 20:10

Answer: ____________

Total: ___ / 100
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Answers:

1) 2304in 2) 166 3) -12 4) (q + 5)2 - 9 5) (q + 5)2 - 9 6) $184.46 7) 10.9

8) 1.85 9) 35 10) 20 11) -18 12) 3292ft 13) 199838ft 14) 100000000

15) s = 8 or -2 16) -1167 17) -1167 18) 143663.22218299in 19) $40.97 20) 6 21) 14185.929126691ft

22) 12 23) 12 24) 1209 25) 0.55 26) 81438 27) 90 28) 1

29) 7 x 101 30) 39 31) Straight 32) 66 33) 14/7 34) 752in 35) 1817/65

36) x = 17 or 1 37) 177 38) 17/15 39) 100000000 40) 1719/20 41) 3 : 2 42) -13

43) 192 44) 12.24 45) 29 46) 15/6 47) 524288 48) -636 49) 240588

50) 16 51) 20.925 52) 26 53) 131940.70231737m 54) 128 55) 18 56) -10058752

57) -10058752 58) 653.7 59) 17 60) 7.5 61) 2436cm 62) $470.30 63) -19

64) 18874368 65) 244/243 66) 42 67) 19278.158500943m 68) 22/25 69) 515443 70) 92

71) 1/2 72) 1/2 73) 22/25 74) 22/25 75) 57 76) 1 : 37 77) 3356cm

78) 22 79) 236 80) 23.5633 81) $169.25 82) 14.918 83) -111 84) Straight

85) 218237 86) 2054ft 87) 2054ft 88) 2054ft 89) 5534.7008574618 90) 15 91) 0.06

92) 829 93) 2 94) 95) 29 96) 187 97) 4400 98) -96

99) 27149/266 100) 2 : 1
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